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BGR00−1A

Wellenlänge λ /nm Kontrast C=100:1

R(λ) Reflexionsfaktor; Ostwald−Farbe: 
Geräte-Cyanblau Cd    λd=489 nm
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BGR00−2A

Wellenlänge λ /nm Kontrast C=100:1

R(λ) Reflexionsfaktor; Ostwald−Farbe: 
Geräte-Rot Rd    λd=596 nm
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BGR00−3A

Wellenlänge λ /nm Kontrast C=100:1

R(λ) Reflexionsfaktor; Ostwald−Farbe: 
Geräte-Cyanblau Cd    λd=489 nm
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BGR00−4A

Wellenlänge λ /nm Kontrast C=100:1

R(λ) Reflexionsfaktor; Ostwald−Farbe: 
Geräte-Rot Rd    λd=596 nm
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BGR00−5A

Wellenlänge λ /nm Kontrast C=100:1

R(λ) Reflexionsfaktor; Ostwald−Farbe: 
Geräte-Cyanblau Cd    λd=495? nm
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BGR00−6A

Wellenlänge λ /nm Kontrast C=100:1

R(λ) Reflexionsfaktor; Ostwald−Farbe: 
Geräte-Rot Rd    λd=601? nm
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BGR00−7A

Wellenlänge λ /nm Kontrast C=100:1

R(λ) Reflexionsfaktor; Ostwald−Farbe: 
Geräte-Cyanblau Cd    λd=484? nm
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BGR00−8A

Wellenlänge λ /nm Kontrast C=100:1

R(λ) Reflexionsfaktor; Ostwald−Farbe: 
Geräte-Rot Rd    λd=591? nm
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